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Geography

Paper II

I

gyaatrent 11

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. €@ YA e

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

Syzygy refers to :

(A) The earth’s position just below
the sun

(B) The moon’s position
perpendicular to earth

(C) Lining of new moon and the sun
on the same side of the Earth

(D) Occurrence of spring and neap
tides at the same side

Assertion (A) : Tides are the

periodic rise and fall of the ocean

resulting from gravitational

interactions of the moon, sun and

the Earth.

Reason (R) : The rotation of the

Earth, size and geometry of the

ocean basins and local climatic

conditions determine the local

magnitude and periodicity of tides.

Which of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true and
(R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

(A) geat=t FAterer feerdt
(B) <STe Geaell ahieshiTet T
(C) YesiT=a T SISl STHETE=A

Teordiq =g 7o Teh! I

(D) Wehrd fegien SOmor o il Wt
oy

faam (A) : =g, @ onfor gest A=

o SelT=T STRIshaHes AFRI qroaTe]

Tdest FAfHa o @l 8 Wl 3Aigler

BId.

SR (R) : Y& UREe, PRl @R

SMHTAM  3Tfor fifiet emfor Tenfaes

A Tt Wdl-STRerean Ttk

e ety fafaddar atad.

IR B ST A 2

(A) <=1 (A) @ (R) 39 39 (R) ©
(A) ¥ I TER B

(B) T2 (A) g (R) 319 3Ted 1g (R)
T (A) ¥ oTs TR AR

(C) (A) oT9= 38 WJ (R) § I% 3T

(D) (A) I 3R g (R) T TgH 37

[P.T.O.



The Antarctic circumpolar current

is generally parallel to :
(A) 80° S
(B) 60° N
(C) 60° S
D) 70° S

Which of the following factors affect

the size of wind generated waves ?
(1) Wind velocity

(2) Wind duration

(3) Fetch

(4) Wave height

(A) (1) and (2)

(B) (2) and (3)

(C) (1), (2) and (3)

D) (1), (2), (3) and (4)

Wave refraction is responsible for

the dispersion of :
(A) Wave energy
(B) Ocean sediments
(C) Planktons

(D) Sea water

SEP - 36221/11—B

sTeTfeR s AR JaTe HIERUA:

(A) 80° |
(B) 60° 3
(C) 60° <

D) 70° T

ARMATHT T SARRAMER BIeeTdeh]

VA Tk TRUMH A ?
(1) === on

(2) SETET ShIATS

(3) =

(4) o= 3=

(A) (1) anfor (2)

(B) (2) 7fur (3)

(C) (1), (2) =fur (3)

D) (1), (2), (3) =TT (4)




The circular clockwise flow of the

water is called as .................. .
(A) Geostrophic current

(B) Upwelling

(C) Gyre

(D) Littoral current

In which of the following zones are

maximum salinity values found ?
(A) Between 10° and 20° N
(B) Between 20° and 30° N
(C) Between 20° and 30° S
(D) Between 0° and 23'%° S

Gravel and sand will be deposited

(0) s SOUUUT .
(A) Littoral zone
(B) Bathyl zone

(C) Deep sea zone

(D) Rift valley

Continental shelves are mainly
overlain by .........ccoeeeeee... type of

sediments.

(A) Biogenic

(B) Hydrogenous
(C) Terrigenous

(D) Cosmogenous

SEP - 36221/I1—B
FrETer=A1 TR BIUT=a IToar=AT Metlehit
S — B
(A) gTed Yo
(B) ¥
(C) ¥
(D) AT Y8
WTeATeTdeh! shivrea famma s1fees &TRar
T 3eesdrd ?

(A) 10° 3Tfor 20° 3. <=M
(B) 20° 3mfo1 30° 3. ST
(C) 20° 3mfor 30° €. TN
(D) 0° 3TfUT 23%° . T

(A) 3Tvaera faam
(B) TR W

(C) Eie AFRI faum
D) == T

JIURMN =fed 3T,
INBSIESE
(B) Siesi=a

(C) =1
(D) afydehier=

[P.T.O.



11.

12.

................ represents a boundary zone
between two water masses where

the salinity gradient is steep.
(A) Thermohaline

(B) Halocline

(C) Isohaline

(D) Thermocline

In grassland ecosystem, pyramid of
energy 1S ......cccceeenen. .

(A) Inverted

(B) Upright

(C) Mixed

(D) Spherical

Coral bleaching involves :

(A) Whitening of the coral skeleton

from solar UV radiation

(B) The loss of coral tissues in
competitive interactions with

benthic algae

(C) The loss of coral tissue due to

the feeding by fish

(D) The loss of symbiotic algae,
called zooxanthellae, by the

coral due to heat stress

11.

12.
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T YNAl 3dR did STHeled

S e e Ar geifad.

(A) g

(B) Zefeetrs

(C) STFEgas

(D) oHieRATE

Tadles IREESA, o W (TRHe) @
(A) IEHE

(B) 3=H@
(C) dfay

(D) TR

oS foRStehta Shem=l HHERT el ?

(A) ¥R e RO Tales sl
BRI

(B) dieff Framaimelt Taefcre STiaxfshai-
o5 YAl Hadld BIVIR ToheM

(C) W= WU BIVIR YaTes S
R

(D) AT VR FEsia Jaesr
SIS FaTeeleh S BTV TehdT




13.

14.

The concept of ‘Ecological niche’ was

introduced by .................... .
(A) J. Grinel

(B) Charles Elton

(C) E. Haeckel

(D) Darwin

Assertion (A) : In recent times, the
biodiversity is deminishing with an
accelerated rate.

Reason (R) : The exotic species are
considered to be a major cause of

extinction of species.
Which of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

13.

14.
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‘miitfeafaes wEtue’ & Yoo wU™

(A) . Ta
(B) =Teiy Teted
(C) 3 Bhd
(D) =ifed

faam™ (A) : STellheial Shleeld Safafaed

I < FHl B 3T,

HRUT (R) : foosh USidl & USidien

foq@ Bvare g8 wRU AFA S,

EedAdeh! HITd aReT e ?

(A) T (A) 9 (R) 319k 37H (R)
(A) 9 9rg T B

(B) T=I(A) @ (R) 379 3Ted g (R)

T (A) T IH TRIHI AR
(C) (A) 3T 38 T (R) ® 9% 3T

D) (A) I 3R R (R) B 379 e

[P.T.O.



15.

16.

Which is the right sequence for
ecological diversity ?

(A) Biomes — Habitat — Ecosystem
— Population

(B) Biomes — Ecosystem —
Habitat — Niches

(C) Biomes — Ecosystem —
Population — Niches

(D) Biomes — Habitat — Niches —
Ecosystem

Match the List-I and List-II and
select the correct answer from the
codes given below :

List I
(@) Dachigam
(b) Panna
(¢) Bandipur
(d) Indravati

List II
(1) Karnataka
(2) Chhattisgarh
(3) Madhya Pradesh
(4) Jammu and Kashmir
Codes :

(@ B) (@ @)
A 2 3 @ @
B 1 @2 @ O
€ @ 3 @GO @
M 3 2 @ @

15.

16.
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TRfEdeR T fafaerd=n Jra %H o ?
(A) STaEedl — e — gfiEen —
STerEA

(B) Siordgdl — TREEen — e —
TRfEerfaes hrErs

(C) Sfewedt — uREeen — Stawen
— TURfEfdes wrRRs

(D) Sewedt — STfeEm — Titffas
HE — e

-1 & AS-I1 A= Siea Sjesa @retiel
Gehdiehlqd ara vt faer
et 1
(@) <TETH
(b) 91
(€) R
(d) STt

(1) dtesh
(2) BT
(3) HEAURTT
(4) S o SR

(@ B) © @
@ 2 3 @ @
B O @ @ B
© @ & QO @
M & @ @ @




17. Assertion (A)

18.

High light
intensities are always associated
with dry habitats and high

transpiration rate.

Reason (R) : Indirectly light
affects transpiration rates through
increase in temperature which
correspondingly affects water

absorption too.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)
(B) Both (A) and (R) are true and

(R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Montreal protocol is related

tO .
(A) Global warming
(B) Ozone depletion
(C) Acid rain

(D) Water pollution

SEP - 36221/11—B

17. faam (A) : =3 JemT digan S8+t J&h

18.

AT 9 3= SIS SURIT geitd

STHdTd.

®RUT (R) : TUHEM 9@ o AMHD
STANOUTERE] TROTH Sh{uareal HIEHId

qeRTIT B STHHETUl TS TS Qe

gRomy Sl

AR A TS 3T ?

(A) 3= (A) 9 (R) 319+ 3H (R) ®

(A) 9 I TR SR

(B) T (A) 9 (R) 379% 39T (R)

(A) = 3Th TR0 AR
(C) (A) 3T9% 38 g (R) © I 3T
(D) (A) 9% 38 W (R) & F TR

AAfesTe Weiehia shemsil ffed eme ?

(A) SFTfaeh ArIHEaTE

(B) 2T=i==n B9

(C) =T aui

(D) ST HgEO

[P.T.O.



19.

20.

United Nations Framework
Convention on Climate Change
(UNFCCC) is an International
Treaty negotiated at ...................
(A) United Nations Climate Change
Conference, Copenhagen, 2009
(B) World Summit on Sustainable
Development, Johannesburg,
2002
U.N. Conference on
Environment and Development,
Rio-de-Janeiro, 1992

(D) United Nations Conference on
the Human Environment
Stockholm, 1972

Match the List-I and List-II and
select the correct answer from the
codes given below :

List I
Lithosere

(&)

(@)
)
(c)
(d)

Psammosere
Xerosere
Hydrosere
List II
Water
Rock
(3) Sand
(4) Dry region
Codes :
(a)
(2)
3)
(4)
(2)

(1
2)

)
(4)
(2)
(1
3)

(c)
3)
4)
3)
(4)

(d)
(1)
(1)
(2)
(1)

(A)
(B)
()
D)

19.

20.
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FARILE T HHeh hegH S FARHE
=S (UNFCCC) a1 ST el
................ aa, qldlqldﬂl 5‘”@&“0

(A) T TEIM TEWH ded IR,
HIITT™E, 2009

(B) v¥aaq fasm@Eda Sfae aReg,
STe=Tert, 2002

(C) TTeR o foehr AeRiel T e
qitee, Ren-<t-srd, 1992

(D) Al TEeRy IRl FgeR T
qive, W=hem, 1972

AEI-1 9 ARI-I1 Fr= A i Jesad

Tefiel Hehdlehlqd arg 9aia et .

RIEUN |
faeR

(@)
)
(c)
(d)

(1)
(2)
(3) @
4)
i
(a)
(2)
3)
4)
(2)

(®)
(4)
(2)
(1)
3)

(c)
3
4)
3)
4)

(d)
(1)
(1)
(2)
(1)

(A)
(B)
(®)
(D)

10



21. Match the following and select the

correct answer from the codes given

below :
List I
(Basis)
(@) Distance
(b) Causes
(¢c) Number
(d) Time
List II
(Types)
(1) Individual migration
(2) Temporary or permanent
migration
(3) Economic or social migration
(4) Long or short migration
Codes :
(@ b)) @ (@
A @ @O @ O
B @ @ @ @
© @ & @O @
M 3 @ @ @

SEP - 36221/11—B

21. SirEdl Sesa S @eft et Hehdrenlqd

T 3R e .

(@)
b)
(c)

BICUN |

(3Tem)

(d) 9=

(1)
2)

IJrat 11
(2T3T)

Jfedeh TR

qeqRd fhal s d Tea

(3) ofefer fehenm EHIRSTeh Tereile’
(4) e goon fRel @E deel TR
Hehdieh :
(@ b)) (@© ()
A @ O @ O
B @ @ & @
< @ B @O @
M Q8 2 @ @

11
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22. Assertion (A) : An outstanding

23.

feature of rural-to-rural stream
of migration in India is the
preponderance of female migrants.

Reason (R) : This is primarily due
to patri-local residence after
marriage (marriage migration).

Which of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) 1is false but (R) is true

City region refers to one of the

(B)

following :

(A) An area demarcated by
Government

(B) An area around the city to
which the city has transport

linkages
©)

An area around the city over
which the city exercises a
dominant influence in relation
to other neighbouring cities of

equal importance

(D) An area of the city that supplies
food and labour resources to the
city

SEP - 36221/11—B

22. faeam (A) : RATA UTHIOT-TTHTOT

23.

TIATR JaTR Skt ATt TSt S

&RUT (R) : T J&ad: AEeRl

I ST (A TAAR).

IAMHT FHIA TSR AR ?

(A) (A) 3T (R) SI=iel sRIeR 31T (R)
T (A) 3 g favam R

(B) (A) 371 (R) Trgiel sk =g (R)
T (A) 9 g% favew A&

(C) (A) TR W (R) I
(D) (A) I g (R) TR

e & WAteTieh] TeRTel Hefed oTe .

(A) THRgER FRRa &=
(B) IRl SASEET 9 S99 e

EIRSCIRE CREKIK]

(C) IR SATSESAT TREL STeX

TSI RE=AT Jed-d AT eIl

TEYU YT ST
(D) BT T S el 3 9 91

e qREd

12



24.

According to Demographic
Transition, if the Crude Birth Rate
(CBR) is 35/1000 and the Crude
Death Rate (CDR) is around

20/1000, then the country is placed

(A) Pre-transition
(B) Transition
(C) Post-transition

(D) Indetermined as per data given

24.

SEP - 36221/11—B

STHEAT A HHRHAIER, SR Bl ST
T (CBR) 35 9fd 1000 3701 el 97
ST (CDR) @ HERUR: 20 Hfd 1000 378,
TR T W T RO I A ?

(A) JE-GHAT

(B) HhHAT

(C) AR

(D) feerean AMfedigar i

95. Given is the list of functional zones | 25. TTeil Y e fasmm =t feeft
of a city. 3.
(1) Central Business District (1) hfed =ga@E faum
(2) Industrial Suburb 2) gﬁ—qihﬁ]a; RUEEIES
(3) Outlying Business District (3) arEfted sraEE fam
(4) Residential Suburb (4) B s
As per the Multiple Nuclei Model, St o i g :
which is the correct answer ?
(A) ®ad (1) 37T (2) TR
(A) Only (1) and (2) are correct
(B) Only (1) and (4) are correct B) F (1) 3T (4)
(C) (1) and (3) are correct (C) R (1) AT (3)
M) (1), (2), (3) and (4) are correct D) (D), (2), (3) ST (4) TR
13 [P.T.O.



26.

27.

The year 1921 is widely viewed as
the ‘Year of Demographic Divide’ in
India because :

(A) Fertility rate showing an
excessively upward trend after
this year

There
migration of people from rural
to urban areas

(B) was accelerated

(C) Mortality rate began to decline
leading to

population growth

accelerated

(D) Demographic stability achieved
for the first time after World

War-I

Assertion (A) : In the first stage
of demographic transition, mortality
remains high but fluctuating.

Reason (R) : Mortality rate
fluctuates in response to epidemics
and variable food supply in early
stages of human history.

Select the correct answer from the
codes given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(A) is true but (R) is false
(A) is false but (R) is true

(B)

(&)
D)

26.

27.
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el 1921 oS 7 SEEATR

favrsier’ w®UA IHEAH Uigd S

0T ¢

(A) SFH TUA Hal o U Higal
AT BRSO fegA 3d emed
(B) TR TR A YRThST T&

o ha¥

lQd

YATThe It

(C) Tl S YA He0aE oo

AT ThEEAT a1 A STl

(D) SR ¥ ufgedn Smfaeh
IGHMM Iiecaial FIeEd oA el

faam™ (A) : SFEEAHRE GHATA

Tigedl T, 9o X Sod 3TEdl U1 1

Te3adr fegara.

HRUT (R) : AFal sfagr=n TRy

sTeReHed Weff= I oA o7 qRaer

Sqel Ao g TUA Fe-3aR B

Trelt fooied FehdieJaR AFd 3aR

REEIRE

(A) (A) 37for (R) =21 sIlsR 31107 (R)
T (A) 9 Iy fagooo 21e

(B) (A) 31 (R) 2l =R g (R)
7 (A) T I9rg favewor A&l

(C) (A) o=’ TG (R) I
(D) (A) IF TG (R) TR

14
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28. Who postulated the forces of | 28. STETE =T TR ST ATHTATATAT
diversification and unification for Faffaamed dqee TEvame fafasi-
striking a balance in the regularities SHIOT SATTOT Teh R L0 o1 Shivl HISH ?
of shape and size of settlement ?

P (A) B e
(A) Homer Hoyt
(B) E. oo d
(B) E. Ullman
(C) S =. fo®
(C) G. K. Zipf
(D) Mark Jafferson (D) =

29, e, is useful in objectively 29. ST AN FHED ST ST
measuring inter-village settlement HSugrErer ST 3
Spacing. (A) Tectd WiaHm
(A) Gravity model e .

(B) 9 dise fagum
(B) Break-point theory
. ) (C) ufaersft faepedr foawersm
(C) Nearest neighbour analysis
(D) Concentration index D T—ﬁ

30. Which of the following statements | 30 IATCTh! 1o e <ehre 3 ?
is not correct ? (A) fomamen Sa qed S
(A) More males are born than e

females ®) 65 e
e foamen SRd Es TesH
(B) More males than females are 3 o
found in higher (65+) age group T
in European countries (C) YRAe dhaeEid foaa JaT
(C) India has less females than W&ﬂ FH 2T
males in its population
D) . TH. T HF Si-Y& Y0
(D) U.S.A. has a sex ratio more . ~
favourable to women SR & ST STehfad o
15 [P.T.O.



31.

32.

Which of the following type was not
included in seven-fold system of land

classification given by L.D. Stamp ?
(A) Arable

(B) Heath and rough

(C) Urban areas

(D) Rural areas

Assertion (A) : China is the largest
producer of hydropower in the

world.

Reason (R) : There is favourable
physiography, capital and access to
high technology in China.

Which of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)
(B) Both (A) and (R) are true and
(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

31.

32.

SEP - 36221/11—B

T, S TR AT ferean yHt sfieR o=
TI-TRE YOfeld  SIeierish!  ShIoTe
YRR HHERT B ARl ?

(A) drEEl I

(B) ¥4 Ird 9 W&l oAt

(C) Wl &=

(D) WO &

gfaured (A) : S =9 gaifeer Sd

&Sl IAeT Hl.

HRUT (R) : S Heia 9ipfas =,

qiead 9 Sod TAAEE GIEd TR
e
T HIV SRR 3T ?

Lo LN

(A) (A) g (R) Tl s&R 3Tgq o7

(R) T (A) = TgH TIRH 3T

(B) (A) ¥ (R) Tl sisR 3med W (R)

? (A) 9 7w TR R
(C) (A) ® SRIsN 3R W (R) € T 3T

(D) (A) I 3% g (R) T TR 31

16



33.

34.

Assertion (A) : The satellite
imageries have revolutionized. The

technique of land use classification.

Reason (R) : Traditional land use
survey gives a static description of
existing land use and is very time,

effort and money consuming.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) is not the correct explanation

of (A)
(C) (A) 1s true but (R) is false
(D) (A) is false but (R) is true

Which of the following is not a
primary industrial region of the

world today ?

(A) South Asia

(B) Eastern Asia

(C) Western and Central Europe

(D) Eastern North America

33.

34.

SEP - 36221/11—B

UIATE (A) : ST UiHHes YHT SIS

RO T Shidl ool 378,

SHIT (R) : TRARE YHT STASH Foaomd
Teerdrefiar wifedt foesd & € oes, 98 ST

T Igen wfdd TR

MR FHI TS AR ?

(A) (A) T (R) T8 SRR 31ea 37101

(R) T (A) & 3T TIHHIT 3T

(B) (A) ¥ (R) Il sieR 3Ted W (R)

T (A) 3 TgF TSI AR
(C) (A) T IR 3T W (R) T I 3T

D) (A) 9% 3 g (R) ¥ RN M3

ETATcTUeh] IOl Yo SHIM=n g

fEnfies wewr A 2
(A) =feqor stfern
(B) o sfer
(C) ufvew 9 weg WU

(D) I ST

17
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35. Assertion

36.

(A)

exploitation of natural resources and

Unplanned

their use is a major problem of the

present day.

(R)
development should be taken for the
of the

Reason Sustainable

conservation natural

resources.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

The proportion of area under various

crops at a point of time is known as :
(A) Crop combination

(B) Cropping pattern

(C) Crop concentration

(D) Crop diversification

SEP - 36221/11—B

35. wfaures (A) : AfESEYES afifs

36.

WYTEIE SO0 9 oI SUET wl

ST Fledldicl Teh JHE 9HEl 3%.

HIUT (R) : A9fie greEas=an
YS! vMYed foshrE=l R R

AAETTh 3R,
IRl UG SIS 3R ?

(A) (A) g (R) T8I SeR 3TRd 37T

(R) ¥ (A) & 3T TR TR

fa N

(B) (A) @ (R) Tl R 3Ted T (R)

T(A) T TH TICHRI AR
(C) (A) % sRIsR R W (R) ® T M
(D) (A) I% 3% W (R) T e 38

TEEy AT SreEd fafay faerraret
&3 T e WU 2
(A) di FIeH

(B) Wi Tpfqay

(C) Ui hglhiu

faS S

(D) dien fafasfieto

18
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37. How many stages are there in the | 37. =refas ot waIfod Sheiean MRfITehIHI
regional method proposed by Tgdia Tt sraEen sRd ?
Chadwick ?

(A) 03

(A) 03

B) 04

(B) 04 ®)

(C) 06 (C) 06

(D) 08 (D) 08

38. Which of the following statements | 38. i = fagiariat Wciietish! v
about Von Thunen’s theory is not faum T AE 2
correct ?

(A) His theory of agricultural land (A) TP Tl I ST W
use is based on the concept of 3Tfefeh TS A1 HeheqoR TR
economic rent e

B) Th ’ in ai . R

(B) unen's main aim to present (B) STSTRUSURA=AT STATER FHo1 o+
the theory was to show how and
why agricultural land use FH T A & W
varies with distance from the IO T 331 AT fagiam
market B

(C) According to Thunen’s model-I

. g. . (C) o= greg-1 gHm faferse e
the intensity of production of a
particular crop increases with TUehT=AT JcAIGAT diordl SITSTUS—
distance from the market A=A STOTER ared

(D) According to Von Thunen’s (D) & S ME-11 TER SIeRuS-
Model-II the type of land use .
varies with distance from the L TR T
market Rl

19 [P.T.O.



39.

40.

Who among the following has
proposed model of development
based linear

on principle

development ?
(A) Rostow
(B) Losch
(C) Kindell
(D) Christaller

Arrange the following multipurpose

projects in India from north to

south :
(1) Damodar Valley Project
(2) Bhakra Nangal Project
(3) Tungabhadra Project
(4) Kosi Project
Codes :

A) (1), (2), (3) and (4)
(B) (2), (1), (3) and (4)
(€) (2), 4), (1) and (3)

(D) (4), (2), (3) and (1)

39.

40.

SEP - 36221/11—B

Yo foentd dater enenia faerar Wy

A FON TG e SR 2
(A) It
(B) aifer
(©) fra
(D) fegwmer

TRATH S et feeied Sg3esid Hehedra
IR o SFIUr STRM WS &A

(1) THERT @R Yehed
(2) W1 AN Fehed
(3) TIUST Wehed

(4) HIE Yehed
Hehdich :

(A) (1), (2), (3) =7for (4)
(B) (2), (1), (3) =7fu1 (4)
(C) (2), (4), (1) =7for (3)

D) @), (2), (3) a7for (1)

20



41.

Assertion (A) : Space is an active

agent in social well-being.

Reason (R) : Ghettos in American
cities are spatial manifestation of

extreme racial discrimination.

Which of the following is correct ?

41.

SEP - 36221/11—B

faem (A) : A48 § gmifSe fedmed
T& GfhT FRE TR

HRUT (R) : SR IEUHHA & §
ST S ST Toela SAfHeRit
e,

MR I TR 3T 2

(A) Both (A) and (R) are true and
(R) is the correct explanation (A) (A) 3T (R) St &K 31T (R)
of (A) T (A) 9 g favawo oTR
(B) Both (A) and (R) are true but .
. _ (B) (A) 31fur (R) Sl silsk W (R)
(R) is not the correct explanation 3 ~ A
of (A) B (A) o 3w faversor @
(C) (A) is true but (R) is false (C) (A) R W (R) I
(D) (A) is false but (R) is true D) (A) I T (R)
42. Which statement is true with | 4o TreFfaF T2 WU RAre T B
reference to India as a cultural
.o faum @ o ?
region ?
(A) Land of origin of religion (A) wmt=n = gt (T8, 95y, 5,
(Hinduism, Budhism, Jainism, v
Sikhism)
(B) Land of world’s largest religion (B) vt wean emi= ot (feg)
(Hinduism) (C) TEHveRART i A
(C) Land of monotheistic religion
(D) wHieR oEid TSehd faursHrE=
(D) Land of political divisions based
on religion pLll
21 [P.T.O.



43. Types of boundaries (List-I) and

their description (List-II) are given
below. Select the correct answer from

the codes given below :
List I

(@) Antecedent

(b) Subsequent

(¢) Superimposed

(d) Relic
List II

(1) Ethnic-cultural divisions

(2) Colonial divisions

(3) New world

(4) States are abandoned

Which of the following is correct ?

Codes :

(@ B @ (@

A O 6 @ @

B & 1 @ @

€ 2 @ @O O

M @ @O 2 O

SEP - 36221/11—B

43. -1 98 T YRR ST Iei-11 9e3

o~

g faero el fedal eTRd. Wiela

o

feeiea HehahMmEd 3T 3ai ael :
EICU |

(@) qoigerdt

(b) SRew

(c) AN

(d) eI
RICU |

(1) dfrer-giepfas faam

(2) = faum

(3) 99 S

4) TS Smfor SlErEE W

TeAAdeh! HIOG aeR TR 2

Hehdich :

(@ b)) (@ (@

@a o 6 @ @
B 3 @O @ @
© @ @ O B

O @ 1 @ B

22
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44. Arrange the following language | 44. YRAWIA Sciishgd gferoradd sierean
dialects spoken in India in order of STTOM=AT YW= SR ©Ieie Sret e
their spoken areas from North to Sesell ¢
South : O ™
(1) Tulu @ 3
2) Tel
(2) Telugu 8) <
(3) Dogri .

5 (4) G

(4) Santhali

IR AU TR G ?
Which of the following is correct ? .

Hehdlah :
Codes :

A O G @ (@)
A @O QG @D @

B) @ @ @ @
B & @ @ @

< 3 @ @ @
<©c B @ @ @

M 2 @ @O O
D 2 @ Q) O

45. Which of the following is not a factor | 45. S¥MHEA WERTSH foshrran Srefierdeh]
in the development of federalism in FUR TE TeE T 2
a country ?

(A) Practice of totemism and (&) = C SticHlelle A=l S
antmism (B) Hiar driifetsh SR
(B) Large geographical size
(C) wrhfaek SHferera
(C) Physiographic diversity
(D) Socio-cultural diversity (D) g -grEnfaes dfaed
23 [P.T.O.



46.

47.

48.

49.

Who from among the following four
geographers is considered the
pioneer of cultural geography ?

(A) Richard Hartshorne
(B) Carl Sauer

(C) Carl Ritter

(D) E. Huntington

Diffusion of religion and language
is not attributed to which of the
following ?

(A) Missionary activity
(B) Trade linkage

(C) Education

(D) Political system

Which state of India alone accounts
for one-third of the country’s
Christian population ?

(A) Kerala

(B) Mizoram
(C) Tamil Nadu
(D) Nagaland

Who is the father of functional
approach in political geography ?

(A) Ratzel
(B) Haushofer
(C) Hartshorne
(D) Mahan

46.

47.

48.

49.

SEP - 36221/11—B

T TR FICTATIeh! ShIvTel Wik e

A U HEA STd 2
(A) = e
(B) Tl HRX
(C) = X
D) T Efmed

AfET F IO YR STeteTdeh! hemsi
Hefad @l ?

A) Temh =«

(B) SMUR Hey

(C) fareor

(D) TSThT HeEdl

ARATAA IO TSAd Y0 SRMAT
TEd ?

(A) el

(B) freirm

(C) drHieTe

(D) AT

o N [aV o o ha¥
USTR T YIATdId shTdlcHesh  GIoZeh [T

faamg o1 M 2
(A) (==

(B) BHEW

(C) ®=re=MH

(D) ™

24



50.

51.

At district level, the scheduled tribes
enjoy a dominant status (more than
80% share in the total district
population) in which of the following
regions of India ?

(A) North-western
(B) North-eastern
(C) Central

(D) Southern

Assertion (A)
geography laid importance to human

Behavioural

activity in space, place and
environment by studying it at the

level of the individual person.

Reason (R) : Geographers in the
Western societies discovered the
utility of mental maps in
understanding why spatial planning

failed in most cases.

Select the correct answer from the

codes given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)
Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(A) is true but (R) is false
(A) is false but (R) is true

(B)

(&)
(D)

50.

51.

SEP - 36221/11—B

S a a N A N
ISicelYldooldr, HIRA=H] dlctleten] enlYlc]

Yeumd SAgfead SHt (THU e

ATREEI=A 80 TRhU&T SEd YHIOT)

greiea fegd Jam ?

(A) 9"

(B) Fom=

(C) 7&1

(D) =faro

faerm (A) : A e SAf9EE, T

101 qafeRund SHeri=AT daferdeh didesie

A hed HEal fwmar e oo

HRUT (R) : 99 Gh{MHES Tl

o

(ST hT ST STl & FHS[H BUIRST,

YT TSI YR HAher 4

TeRTRTE  JTERTAT ST,

el fooiedl Seohdihmyd 3T9F qa™

IEEEINE

(A) (A) i (R) <=1 &1 sie 3fon
(R) ¥ (A) I 379 fawersmr ame

(B) (A) @fn (R) Tt sRsX g (R)

7 (A) 9 3w fagersor @

(C) (A) ==X Wg (R) I
D) (A) g% g (R) =R

25
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52. Which of the following is/are not

correct with reference to Humanistic

Geography ?

(1

2)

3)

4)

(A)
(B)
(&)

(D)

It is distinguished by the
central and active role it accords

to human awareness.

It induces geographers to take
expeditions to the poorest and
the most depressed areas with
a view to obtaining unbiased
first hand information about

them.

It is an attempt toward under-
standing meaning, value and
human significance of life

events.

It is an expensive view of what

the human person is and can

do.

(2) and (3)
(3) and (4)
(2) only

(4) only

SEP - 36221/11—B

52. HMATT ATl TSN el

FgH TR R ?

(1)

2)

3)

(4)

(A)

(B)

(®)

(D)

T Il SIFTEShaTR Seled wea S
| yfehgam S 2.
oS SFeamAEs Hata T4 S
3T IQTEA AAHed freqey gem-
ST Afeclt fezavaren gtk
Tfgmr B ST,

Stter w31, ged v Jre
el HHS[H HUAEl B Teh YA
R,

e SHad] Sh1d 378 30T T

& Yehd A= T faga gies
3R,

(2) =TT (3)
(8) for (4)
(2) e

(4) ®d
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53.

Name of scholars (List-I) and their
contributions (List-II) are given
below. Match List-I and List IT and
select the correct answer from the
codes given below :

List I
(@) Ptolemy
(b) Strabo
(c) Eratosthenes
(d) Herodotus

List II
(1) First who noted the delta

forming process in large rivers

(2) Believed that Indian ocean was
enclosed by joined coasts of Asia

and Africa

SEP - 36221/11—B

53. -1 A fagam onfor aei-11 9l =

10 4 & B g M e e | ) 4 B
-1 A1 Teoar sTfoT et feeie

Heharegd I feer :
RICU |

(@) fe

(b) =

(c) TERITE

(d) weEd
Tt 11

(1) ufgen S Higa Teamed fys wew
TIR BN Fihan Higae.

(2) 3T el i Tl FEMNR ARmn

9 AR = fehRuedH dar Bl

(3) Calculated the earth’s
circumference 3) E[QEFIEIT feereft Mot SRt
(4) Famous for his work, (4) TSSIEMwIRT T Taes S
“Geographica” HaaiE
Codes :
(@ B © @
(@ b)) © @
w1 3 @ @ A @O & @@ @
B) 3 @ 1) (2 B B @ @O @
< @ @ & @ < @@ @ 3 @
D) @ D @ 6 D @ @O @ @
27 [P.T.O.



54.

55.

56.

Which is the correct sequence of
development that took place in the
history of geography ?

(1
(2)
3)
(4)

Possibilism

Post-modernism

Behaviourism

in

Quantitative analysis

geography
Codes :
(A) (2), (3), (4) and (1)
(B) (1), (4), (3) and (2)
(C) (D), 3), (4) and (2)
(D) (4), (3), (2) and (1)

Outside the United States, which
was the university where a major
centre of quantitative-theoretical
geography had developed ?

(A) Oxford University, UK

(B) University of Halle, Germany
(C) University of Nancy, France

(D) University of Lund, Sweden

Which one of the following is known
as the language of geography as
spatial science ?

(A) Ecosystem
(B) Environment
(C) Landscape
(D) Geometry

54.

55.

56.

SEP - 36221/11—B

A1 SR Seied forehrdT 379
A hIUA SRd ?

(1) TeaER

(2) Sc-SYfehdrg

(3) SfuRaTg

(4) YTl Heareh  fogersm
W :

(A) (2), (3), (4) =7 (1)

(B) (1), (4), (3) =7fu1 (2)

(©) (1), (3), (4) =7fu1 (2)

D) (4), (3), (2) =7for (1)

9 G- Sgifae i T T@

g foaskfad @ ?

WICATeeh! ShIVT YTl WToT el formm

A e S ?
(A) uftEeen

(B) waieRl

(C) 5=

(D) et

28



57.

58.

59.

Who is considered the originator of
dualism between physical and
human geography ?

(A) Carl Ritter

(B) Oscar Peschel
(C) Elisee Reclus
(D) George Gerland

By means of ‘genre de vie’ and other
concepts which school of Human
Geography replaced the exaggerated
Ratzelian notions of environmental
determinism by the elastic concept
of possibilism ?

(A) British
(B) German
(C) French
(D) Dutch

Who for the first time clarified the
relationship between special
(Regional) and General (Systematic)
Geography ?

(A) Buscheng
(B) Humboldt
(C) Kant

(D) Varenius

57.

58.

59.

SEP - 36221/11—B

SRV Tehfdeh ST Al Siel ATeard
SaaE gE UM ISl el S 2
(A) e R

(B) Rt Ug=d

(C) Tt Rt

(D) wist TRefe

‘STR-E-wE S g HeheureAl
S, | A=A shioredl fa=m-
JATEH HHTERT=A SEhIGaR TATauy
Mfvedarerere stfaifs I@faa oo

STt ?

(A) o=

(B) <=4

(C) %=

D) ==

foRe (wRTeR) STftr wme= (IgHaRii)
AT qieealal vl Hee Tee
a7

(A) SR

(B) ®wilee

(C) =T

(D) =RF=E

60. Who for the first time attempted a | 60. qfecdiel aeAdl 9 WOl A SR
classification of plants and animals ? HLOATET GI IO shell 2
(A) Count Buffon (A) HHS THA
(B) James Rennel (B) =1 {dA
(C) George Forster (C) S BRER
(D) John Ray (D) T X
29 [P.T.O.



61.

62.

63.

Which of the following situations
would exist when the slope is
referred as 100 percent ?

(A)

The horizontal distance is
double than vertical difference

(B) The horizontal distance is same

as the vertical difference

(C) The horizontal distance is half

than the vertical difference

(D)

The horizontal distance is 10
times of the vertical distance

The sensing and recording ability of
the sensor in different wavelength
of electromagnetic radiation is
known as :

(A) Spatial resolution

(B) Radiometric resolution
(C) Temporal resolution
(D) Spectral resolution

Which of the following are used for
calculating drainage density ?

(1) Stream length
(2)
3)
4)
(A)
(B)
(©)
(D)

Stream order
Basin perimeter
Basin area

(1), (2) and (3)
(2) and (3)

(2), (3) and (4)
(1) and (4)

61.

62.

63.

SEP - 36221/11—B

EeiTeTeh shivrt g i S8
IRl AR &1 100 b Sifaeien e ?

(A) 3TEd R T AT WA THS
T8

(B) 3Ted 3TN § 391 HihERE 318

(C) 3TTed 3T ST ®{ehr=Al 19 3/

(D) 3T 3T IHAT A= TIUE A

e (Sensor) forga-gsehTd TR
fafay qTeTsvEe Hogd o Hig SHLoaTe
..................... 8 RUE.

(A) g foom

(B) fafsufada femdsr

(C) Hreetea o

(D) <viqeeta faarem

TR ST e WielieTueh! shioTea

SChTEl AT hall a2
(1) freEm s

(2) =R =4

(3) @R TfRfHdT

(4) f=R e

A) (D, (2) 9 (3)

(B) (2) 9 (3)

(C) (@), 3 T 4

D) 1) 9 4)
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64.

65.

66.

67.

Which of the following profiles
represents only an outline of the hill

ranges ?

(A) Cross profile

(B) Longitudinal profile
(C) Composite profile
(D) Projected profile

Method of data collection changes

primarily with :

(A) Subject of investigation
(B) Scope of enquiry

(C) Statistical technique
(D) Study area

Which type of regions can be best
analysed by “Principal Component

Analysis” ?

(A) Non-developed region

(B) Formal region

(C) Functional region

(D) Planning region

Which of the following options is true

for a positively skewed distribution ?
(A) Mean > Mode
(B) Mean = Mode
(C) Mean < Mode
(D) Mean > Mode

Median <
Median =
Median <

Median >

64.

65.

66.

67.

SEP - 36221/11—B

T LN o NN LI
Llldlcdlen enlVicd] HIRaREl1 SHIX {HH]

EOET SIadr JsA 2
(A) T
(B) gt
(C) fax
(D) wad

i Eeh! STHT HIUATA TGHES Y™
3 &€l B

(A) fao@am=n <esh

(B) SR A9l

(C) ¥&aRTET a3

(D) A &

ShIUTCT YR HaeT fargeron ‘ fifeael
FHIFHS STHAHE' THR IFATRR Rl
RECI

(A) YT H_W

(B) So=nieh WamT

(C) wEEid ¥

(D) frsH wew

g fasmaerar faarom=ar arerdid
TEAUsh! ®Ud faum g 3 2
(A) 99 > HE < dgoich

e = g

HER < dgcdsh

HEF > dgcdsh

(B) #&4

(C) 7 <
D) 749 >
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68. Match List-I and List-II and select

the correct answer by using the
codes given below :

(@)
)
(c)
d)

(1

2)

3)

4)

List I
(Satellite)

ASTER
MODIS
Cartosat
IKONOS

List II
(Major Application)

Used for cartographic
application, urban, rural and
coastal land use and other land
information system

High resolution commercial
satellite used for land use
studies, natural resource,
disaster management etc.

High resolution multi-spectral
stereo images for digital terrain
model, change detection of land
surfaces

Used for large scale global cloud
cover, radiation budget and
oceanic studies

Codes :

(@ ®) @ @@
A @O @ G @
B @ & @O @
< @ 3 @2 @
D B @ @1 @)

SEP - 36221/11—B

68. AR T ARI-II AN Siedl S[eeed @reiiel
HehaeiE arg e Haer

(@)
)
(c)
d)

(1)

2)

3)

RIC{ |
(3u7®)

Trat 11
(Y@ 3
AT ATR YTHEAA  THRTIINE,
AT, UL g HHrerd] Tt
ST Ao’ T8 - Hifed! Jomeii-
wE Bl

3Tg TodeM &THd=A1 AT aeh
SUTETET SYAN ST o, Fafifeh
HYEIc o Al T
3=a oIS amd=a agavivedi
T gfqHmm=n TR ST Yo

gyfaa a89 SfHAr=a aTadrd

ST ST KOS Bl

(4) A &I dfyess @ &,
Torferzor siSie o THgT ST ShIvAIE!
Bl

Hehdich :

(@ b)) © @

Aa O @ 3 @

B 2 & O @

o @ & @ @

D @ @ 1 @@
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69. Match List-I and List-IT and select | 69. &I & EH-IT 2= Sre=l Sooe @it
the correct answer by using the W@ g g e
codes given below : T 1

Last 1 (@ s
(@) Isohypse ®) T
(b) Isohel © i L
(c) Isocrymes @ -
(d) Isonephs a0

List II :
(1) Equal cloudiness (L) w5

(2) HH-S & g@ W
(2) Equal height and pressure lines
(3) Equal sunshine ) =
(4) Equal frost (L%) W—'gﬁ‘l
Codes : Henden
@ & © @ (@ &) (@ (@

A 1) @ @ (@3 A @O 2 @ O
B) 3 @ 1) @ B & @ QO @
C) @ 3 @ @ € @ B @ @
M) 2 B3) @ @ D 2 B @ @

70. Which of the following spatial | 70- Tlel silferes Hfedt yoneidicr Howd
analysis method in GIS can HAfwerita faverom ggd € S aTR
effectively detect changes in land F SR STEROMS gt TeuarErdt
use/land cover ? EEREN] 3 ?

(A) Proximity analysis (A) HHHar fagesor
(B) Overlay analysis (B) H=ARMU fogeiwor
(C) Buffer analysis (©) W fergesror
(D) Network analysis (D) ST fagerom
33 [P.T.O.



71.

72.

73.

Which one of the following is not a
lagoon ?

(A) Ashtamudi Lake

(B) Chilka Lake

(C) Periyar Lake

(D) Pulicat Lake

Which one of the following is not an
Anticident River ?

(A) Indus

(B) Satlyj

(C) Ganga

(D) Brahmaputra

Which of the following statements
is/are true about the role of Sub-

Tropical Jet Stream (STJ) in Indian
Monsoon mechanism ?

(1) Sub-Tropical Jet Stream is a
narrow band of fast moving air
flowing from East to West

(2) Sub-Tropical Jet Stream in
northern hemisphere flows
between 25° to 35° N in the
upper troposphere at a height
of about 12-14 km

(3) The burst of monsoon depends
upon the upper air circulation
which is dominated by Sub-
Tropical Jet Stream

Code :

(A) (1) and (2) only
(B) (2) and (3) only
(C) (1) and (3) only
(D) (1), (2) and (3)

71.

72.

73.

SEP - 36221/11—B

ETATAUsh] HIval It @eTol A 2

(A) THET T

(B) Toesh WX

(C) @R T

(D) gferehd |R

WEAeTdeh! RV Teh Jelard! el el ?

(A) oy

(B) Hdetst

(C) T

(D) F=YA

Teteden! RAE AFgA e

gfshad SU-SWR{CAE AT FaTRrEl

qfreddet &ivd faam(R) sE®

() ?

(1) 3U-IHCHLNT S YaITE 71 JAh g
qfyefiehe A SRl ST
3T TSI 3ITR.

(2) IR TCTHd I9-IUERICALTT Sie
TAE qUERIGIA aieal & AR
12-14 fordfl. S=aX 25° T 35° 3
LHM dledld.

(3) AT SRTHA 3U-3EURR{CHE T e
YRl GHTE ST 3 gall
IREEROMER STaeed 3T,

Hehdleh :

(A) (1) 9 (2)
(B) (2) 9 (3) He
(C) (1) 9 (3) we
D) ), (2) = (3)




74. Match List-I and List-II and select
the correct answer from the codes

given below :
List I

(Biosphere Research)
(@) Nokrek
(b) Simlipal
(¢c) Nanda Devi
(d) Manas

List II
(State)
(1) Assam
(2) Uttarakhand
(3) Odisha
(4) Meghalaya
Codes :

(@ b)) @ @
A @ & @O @
B & @ @ @
© 2 & O @
M @ & @ @

SEP - 36221/11—B

74. AR ARI-IT I Sirea ST @reie
HehaeiE 9y e Haer

a1
(vitfara Sife &)
(@) THH
(b) Towefae
(c) a1 Qe
(d) A
arer 11
(=)
(1) 3™
(2) SaES
(3) sfifewm
(4) e

(@ ) © @
A @ Q@ @O @
B 3 @ @ @
© @ & @O @
M @ Q@ @ @
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75.

76.

Which of the following statements
about laterite soil in India are

correct ?

(1) It is generally red in colour

(2) Cashewnuts grow well on this
soil

(3) It is poor in Nitrogen and
Potash

(4) It 1is well-developed in
Rajasthan

Choose the correct answer :
(A) (1) and (2) only

(B) (1), (2) and (3) only

(C) (1), (2) and (4) only

D) (1), (2), (3) and (4) only

As per 2011 census, which of the
following cities are not a million plus
city of Maharashtra ?

(1) Solapur

(2) Kolhapur

(3) Aurangabad

(4) Amaravathi
Codes :

(A) (1), (2) and (3)
(B) (2), (3) and (4)
(C) (1), (3) and (4)
D) (1), (2) and (4)

75.

76.

SEP - 36221/11—B

EeiTeAdeh! Il faem wRdrder st
o1 Fad IHA A ?

(1) < 9H=Id: A= ST

(2) I HIoR HISE! 3caRd =T B

(3) o RS SmUr WY A WHIT
T 3T

o o

(4) T TSEATTHED =TTt faemfga
eI 3T

Iy I Haer
(A) (1) 27for (2) Fed

(B) (1), (2) 37fU1 (3) e
(C) (1), (2) 37T (4) e
D) (1), (2), (3) 37T (4) T

201131 SFRTIFAR Geiietuent HaRTserie

I SeAE e AR ?
(1) Herg

(2) IR

(3) SIRMEE

(4) ST

W :

(A) (1), (2) = (3)
(B) (2), (3) 3T (4)
(C) (1), (3) =nfur (4)
(D) (1), (2) =nfor (4)
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77. Assertion (A) : The concept of agro-

ecological regions of India is a

modified version of agro-climatic

regions.

Reasoning (R) Food and

Agricultural Organisation (FAO)

classified the difference between

these two terms in 1983.

Codes :

(A) Both (A) and (R) are true and

(R) explains (A)

(B) Both (A) and (R) are true but

(R) does not explain (A)

(C) (A) is true and (R) is false

(D) (A) is false but (R) is true

SEP - 36221/11—B

77. Taam (A) : IRaET FE-TREdwRE

ST HHheUdl & FHEI-TAHM  TREIET

[HTRa STEdl 3.

HIUT (R) : 3191 9 Fs =4 (FAO)

T S G TR0 1983 HEA sl
3R,

- -
-
-

(A) (A) 9 (R) T8I s 39T (R) ®

(A) 9 Tgh TR 3R

(B) (A) 9 (R) =l aeR 3Ted R (R)

T(A) 3 oTgF TR AR

(C) (A) T =R 378 W (R) ¥ I 3T

D) (A) I e T (R) ¥ s

37
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78. Match List-I with List-IT and select

the correct answer from the codes

given below :
List I
(Crops)
(@) Barley
(b) Rice
(c) Millets
(d) Tea
List II
(Geographical Conditions)
(1) Hot and dry climate with poor
soil
(2) Cool climate with poorer soil

(3) Warm and moist climate with
high altitude

(4) Hot and moist climate with rich
soil

Codes :
(@ &) @ (@

Aa 2 @ @O O

B @ @©O B @

< @ @ @ @

M 2 & @O @

SEP - 36221/11—B

78. QI 9 ARI-IT I Sirea e @eiel

Gehdihlqd =g v faer
RICU |
(forer)

(@) it

(b) €iges

(c) W & A

(d) ==
et 11

(vimiferen uftfeerd)

(1) @RI HefT=a JeeRisR So01 o Yok
T

(2) ToHI e HaoRier i gard™

(3) Afyer =T YSIIERIeR TRH o
SR gaTdH

(4) FU= FEORER I F ST oM
Hehdich :
(@ @) @ @)
A @ @ @O G
B 2 1 B @
©c @ @ @ @
M 2 & @O @
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79.

80.

Which pass was opened between

India and China for trade ?
(A) Nathula

(B) Khardungla

(C) Chumbi

(D) Solang

Assertion (A) : According to
NDMA and BMTPC, nearly 59% of
India’s land area is vulnerable to

moderate or severe Earthquakes.

Reasoning (R) The most
vulnerable areas according to the
seismic map of India is Eastern Ghat
Region.
Codes :

(A) Both (A) and (R) are true and
(R) explains (A)

(B) Both (A) and (R) are true but
(R) does not explain (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

79.

80.

SEP - 36221/11—B

HI0dt foe 9Rd 9 == SFAREE!

Qe HuA Seiel 3Ty 7
(A) AgeT

(B) @RI

(C) it

(D) Hrem

faem (A) : NDMA 37t BMTPC T9R

AR 59% YAl JHI YS9 81 HeEAH

q e S A=A YR UTAT TR TR
e,

ST (R) : TRATAT JHITEU ThRITHR
e W YT ® Al g e

-
-
.

(A) (A) T (R) Sl SeR 3ed (01
(R) T (A) T T TR 3T

N A ~N

(B) (A) 9 (R) Tt =R 2T g (R)

B (A) 9 TgH TR AR
(C) (A) T SRR 37 R (R) § TIF 3M&
(D) (A)® I 38 W (R) © SR 38
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81.

82.

83.

The thickest known deposit of ‘Loess’
on the ‘Loess plateau’ is found

N eeeeeeeee. .

(A) China

(B) USA.

(C) Mongolia

(D) Afghanistan

Laterite is produced by :

(A) Hydration and carbonation
(B) Hydrolysis and oxidation
(C) Hydration and calcification
(D) Leaching and oxidation

Which action is responsible for the

formation of Eskens ?
(A) Fluvio-glacial erosion
(B) Glacial erosion

(C) Glacial deposition

(D) Fluvio-glacial deposition

81.

82.

83.

SEP - 36221/11—B

‘AN 9N Tl Heid STer HIgld

e AE 'S gEe
@

(A) =

(B) .TH.T

(C) wifer=n

(D) ST
Sz fAfHdt agem Ad

(A) eI S A&

(B) St forssa sfur siferaEienon
(C) SToTEan ST HedTehion

(D) T&mer safor sAfferaetent

10T Hishal €1 T&HIE sheshrean ffHdracst
SeERR 3 2

(A) TEE-fer swere e

(B) femmele 3Tqery shrd

(C) ferc= g9 o

(D) Ta-fer g=7 =
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84.

85.

Which one of the following pairs is

not correctly matched ?

(A) Laterite soil — Uttar Pradesh
(B) Sandy soil — South Punjab
(C) Red soil — Tamil Nadu

(D) Black soil — Madhya Pradesh

Assertion (A) : Granite has larger

crystals than basalt.

Reason (R) : Basalt has larger

content of metallic minerals.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

84.

85.

SEP - 36221/11—B

oA

[l

ETATAdeh! IV Tk SISl A1

Sjegere! e 2

(A) STl TET — IR

(B) qIehT™d &1 — S0 Hed
(C) derel ¥a1 — difHesre

(D) HTed Ha1 — HEAYRT

faeam (A) : FOMTHHES SETeCUaT HisdT

MR Thideh AHA.

HIUT (R) : SHTeHE ST JHIOT =t

Qs T9adrd.
IRt HIVA TS T8 ?

(A) S (A) 9 (R) 39+ 3H (R) ®
(A) 9 I TR B

(B) 3=T(A) T (R) 3T 31ed g (R)

T (A) T T TR AR
(C) (A) 379 318 T (R) € I 3T

(D) (A) 3% 38 WY (R) & F 3R

41

[P.T.O.



86.

87.

Match the List-I and List-II and
select the correct answer from the
codes given below :

List I
(Processes)
(@)
)
(c)
(d)

Hydraulic Action
Plucking
Deflation
Solution
List II

(Features)
@)
(2)
3)
4)
Codes :
(@)
(2
3)
@)
(2)

Cirques
Geo
Terra-Rosa

Desert Pavements

)
(1)
(4)
(2)
(1)

(c)
4)
(1)

(d)
3)
(2)
4 O
3 @

................... tributary is formed
when tributaries in a flood plain
may not be able to enter the main
river because of raised levees on
either bank of the river.

(A) Deferred
(B) Solitary
(C) Anabranch

(D) Anastomosing

(A)
(B)
()
D)

86.

87.

SEP - 36221/11—B

-1 & AGH-I1 A= TS SJesad Qe
Hehdlehlqd arg e e

It 1

(wferam)
Sl fomanm
I S0 (Plucking)
39ae (Deflation)
FELIERI

et 11

(3=0)
fereet
ISEl
EAEE]
B qgehid
Hehdich :
(@)
(2)
3)
(1
(2)

Stegl QX HeHmEE IuTen ' A<
fFrFaeRiet S qRASges G e o
F& Tehd M@l

(A) TIfiTa
(B) TehTeh!
(C) oS
(D) drfeTHIeH

(@)
)
(c)
(d)

(b)
(1)
(4)

(c)
4)
(1
4)
3)
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88. What are the signs of rejuvenation | 5% =T ST qIESSaTT=a1 Fom
in a river valley ? ShIUTEh IOl 3TTed 7
(1) Incised meanders (1) Ti%d e (Incised meanders)
(2) Unpaired terraces (2) TS dfgant (Unpaired terraces)
(3) Nick points (3) @ fog
(4) Paired terraces (4) S dfgept (Paired terraces)
(A) (1), (2) and (3) (A) (1), (2) =7for (3)

(B) (1) and (3) (B) (1) =i (3)
(C) (2), (3) and (4) (C) (2), (8) =T (4)
D) (1), (3) and (4) D) (1), (3) = (4)

89. e, is the area in a drainage 89. &1 R SR STodf= STy
network where stream directions are & e fewm T]hﬁ foes @ 3=t &
opposite and elevation is maximum. ST ST&d 378
(A) Mid slope (A) &9 AR
(B) Water divide (B) afarsish
(C) Valley (C) =l
(D) Confluence (D) €™

90. The turbidity currents observed | 90. Y&h YTt TSIl HaTRlel SAfeeh 4
in arid climate are better known PERTY e 3 gAY W
8S terererrereerennns : IR ep—

(A) Dust storms .
(B) Thunderstorm (B) <=
(C) Tornado (C) uiam AGes
(D) Cyclone D) =T
43 [P.T..



91.

92.

Which one of the
statements is correct ?

following

(A) Wind speed increases with

friction
(B) Wind speed is inversely
proportional to pressure

gradient force

(C) Geotrophic wind blows parallel
to the isobars

(D) Wind is deflected to its right in
the southern hemisphere

Koppen’s climate types (List-I) and
the regions/states of their occurrence
(List-II) are given.

Match List-I and List IT and select
the correct answer from the codes
given below :

List I
(@) Amw
(b) Aw
(c) Bshw
(d) Dfc

List II
(1) Rajasthan and Gujarat
(2) North Eastern States
(3) Orissa
(4) Western Coastal Region
Codes :

(@ B) @ @
A 2 & @ @
B @ & @O @
e @O @ G @
M 3 @2 QO @

91.

92.

SEP - 36221/I11—B
Teeyeh! o faeam B R ?
(A) IFaTE T SSUEER ST
(B) dr=ar=it Tl &l gereA <6l oot
S FHIOT 3T
(C) YeTerdt IR & FHeE IO HARR
qreard
(D) <feror MenaiAed aEa= e

Sdlehe fogem B

U gIMH YRR (ARI-1) 3Tfor weer/
T N9 ¥ 3edd (IE-11) foora
3R

-1 & A1 A= S Sesad @reita
HahaeiE 9rg e Haer

gret 1
(@) Amw
b) Aw
(¢) Bshw
(d) Dfe
et 11
(1) TSEAE 30 T[S
(2) W= T
(3) offesm
(4) uf=m feEmaeid oW
Hehdich :

(@ b)) @© @
A 2 G @ @
B @ & @O @
©c O @ B @
D & @ @O @
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93. Assertion (A) : In a rising air | 93. fagm™ (A) : SEUfGA FAgeTHEA, o€
parcel the rate of cooling is reduced A YA FEIeEa Sl B
after condensation. )
Reason (R) : Latent heat is released R) : SHT HIS
during condensation. e R B
Select your answer from the codes AT Fehdishlueh! I faesheyd ferer .

iven below : NN -

® (A) (A) 9 (R) S=EI S 3ATed 300

(A) Both (A) and (R) are true and 3 3 % ,\ e
(R) is proper explanation of (A) (R) = (A) AT SR

(B) Both (A) and (R) are true but (B) (A)d(R) &l sk 31ed W (R)
(R) is not the correct explanation T (A) @ T TISHTO] TRl
of (A) .

C) (A) T R

(C) (A) is true but (R) is false © Wz T G (R) & I oM

(D) (A) is false but (R) is true (D) (A) 9% & RY (R) & TR M

94. Intertropical convergence zone is a | 94. STX-IUIHica e AfqEIT &F 7
feature of which one of the following ETATAYeh] ShIUTCHT Wehl SIFTfdeh TRE=RT
global circulation cells ? HYT AT eMmwR ?

(A) Ferrel cell (A) XA HaN
(B) Hadley cell (B) B0 kel
(C) Morley cell (C) #ia hef
(D) Polar cell (D) yeit= whem
95. The concentration of the following | 95. JERUTA 3T A FHTT IaLAT
trace gases in the atmosphere in HHM 3 IR :
descending order is : (A) e SEeIaEse, M, difem,
(A) Carbon dioxide, Neon, Helium, e
Methane . e

(B) Neon, Helium, Methane, (B) L ’ ’ ST
Carbon dioxide ;

(C) Helium, Neon, Carbon dioxide, (C) ferm, fiM, e SrsTEs,
Methane o

(D) Methane, Carbon dioxide, Neon (D) #HigA, we SElES, R,
Helium HISRE]
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96.

97.

In ionosphere the molecules and

atoms of ...oevevneeennnnn. are ionized as

they absorb high energy short wave

solar energy.

(A) Xenon and Argon

(B) Nitrogen and Oxygen

(C) Krypton and Hydrogen

(D) Hydrogen and Methane

: The Earth’s

rotation deflects freely moving

Assertion (A)

object.
Reason (R) In northern
hemisphere movement is

anticlockwise and in southern
hemisphere it is clockwise around

low pressure.

Select your answer from the codes

given below :

(A) Both (A) and (R) are true and

(R) is proper explanation of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation
of (A)

(&)
D)

(A) is true but (R) is false
(A) is false but (R) is true

96.

97.

SEP - 36221/11—B

T STIhd BIaId SR o Iod Sl TgeTad

IR Hota OO L.
(A) Taeia enfor e
(B) SIS AT TS
(C) forea eftr grEgsH
(D) eEgSH 3o HioH

faam (A) : geat= qRae goa =fad
o fa&fud .

HIUT (R) : HHT SETHET Sl TeATeid

B ol TS faeg fTin ™

feor Menyld seTeere e 3Tdd.

@il Fehdishiueh! I faehey fHerer

(A) (A) 9 (R) Tl SeR 3Ted 30T

(R) € (A) = Iy TIEhin 2T

(B) (A)d (R) Sl SR 3Ted Wq (R)

T (A) T TH TIHRI AR

(C) (A)? SR 378 TG (R) € I 378

(D) (A) I 3R W (R) T IR 318
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98. Cold-type occluded front will form

99.

when :

(A) The air behind the cold front is
colder than the air ahead of
warm front.

The air behind the cold front is
warmer than the air ahead of
warm front.

The air behind the cold front
and the air ahead of warm front
have same temperature.

The air behind the cold front
and the air ahead of warm front
have equal pressure.

(B)

(C)

(D)

Out of the total energy emitted by
sun the proportion of visible light is
about ...l percent.

D) 1

100. Arrange the following in the

ascending order of their years taken
for the cycle :

(1) Orbital eccentricity
(2) Precession

(3) Change in axial tilt
A @ @O O

B) G @) (@

<€ @ B @

M) @O G (@)

98.

99.

100.

SEP - 36221/11—B

Id-Tehr=l Afgenfia Aemel TR

o %ﬁﬁ SEl

(A) I ATMEST=AT AFT= gl 307
TSN Je=al gauell o€ 3T9d

(B) I 2ATEMEST=AT HETET BT IOUT
STETS=AT Yol gaue 301 3T6d

(C) 3fd STerSr=a HETeA Bo d SO0
STETE=A1 Y&=A1 gold AN HE
T

(D) T STEMS=AT AFT=AT gad o 3801
STETE AT &A1 ol agHR ARE
T

TAIEA IS SV TR Soideh!

I YRR YHIUT HIERO:
TFh IR,

(A) 43
(B) 49
C) 7
D) 1

A o N

erell fodiean watarT @< =9 qul
FHIOAS ARTONAT SO F&edl She
oren ¢

(1) =reftar famea

(2) =

(8) =&fid el e

A @2 @O O

B B @ @

<© @2 B @

M @O Q) (@
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ROUGH WORK
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